EARAROBEEIERT — 2 N— IBISH —F

2019%7H1H (B) 4E#F3H

AR R —LCh Y S5R2EBHE

‘ [Rfg] & ‘ [FEERR] — | & (&) 80M &

[A&4£] 17 :2,900,000 @ 23 :1,015,000 @ 33 :580,000 4 3% :435,000 @ . 5 7 :290,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. N = . - . - iR (GH)
1 3 ToTIY T — 4 2 L zzs_z)a 1-1 36.4 3 (41_4) ﬁ*%
x40 B:O0—-HFL—X [ELAEEAIES
S gy 2 | EmET 48.9 o) . = 1 494 | /NARE (GEFD)
2fg|7|77NAY T4 2T HEED 0) 2| %0 Pl Eipat-Pp 4 g
R:2ZXHA-X914 B:AT7HhT5— HET7— L
A EB | 2 - - BRI (@)
sBl o | ¥73XbL—} ® 2B s o B0 ? (439) HisteE
L:T—ILRI—X B:NvIiL e ]
4 2 | FEY 49.2 2-3 36.6| — 4 421 | KEFESE (AAN)
N MR ES 54.0 (1/2) o) |t
L:Er7OvY B4t/ d74 X KIF RS
2 py 5 # o2 | FEEE 49.9 5-5 371 — 7 456 | TEE(REE (AF)
5|55 K77 /3% 54.0 3) (=) | AMAERD
R:ZAw—br 770> BZAT7v—7 =S
s T R . — . — JEF—BI GaFn)
6 6l varEns—F1 it 2 i 5(02)3 7-6 37.1 6 (417) iy
LNNVTSY BNYLTy MYRY RIS I
_— 42 | BATHER 50.9 4-7 381 — 5 441 | NERR GEFD)
7188 r—=TL X 54.0 3) (=) ‘}El#iﬁﬂl
RHTIRIAY BTFIa AUFL Ty — L
o 2 | AEEX — - — — — — | HOF GAm)
el 1] 1|7y 2 an ) O |mEmx
RNZ—ka1—2X B:=Y/L207 BHREt All%E
® I —F—@EBIERL
13—7—
23— —
BEE 3,4,7,8,5,2,6
43—+ — 3,7,4,2,5,6,8
[ RN
B OB 3 600 714K 3-7 190H B E 3-7 600 &R 2-3-7 500M
8 B 3 190M 2-3 210 B H 3-7 1,650M JEH 3-7-2 4,680
7 140MH 2-7 140H

ABICOVWTRDTEEERROODE. TR LIV,




